
8050 8050.5 8051 8051.5 8052
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

4a
X

alpha13_4eX4aX:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

19−

18.5−

18−

17.5−

17−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

1X
12

X
4e

X

delta13_11X12X4eX:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

46
_1

1X
12

X
4e

Y

delta46_11X12X4eY:cyclenum {run == 7113}



8050 8050.5 8051 8051.5 8052
cyclenum

120−

119.5−

119−

118.5−

118−

us
l_

4a
X

usl_4aX:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

58.2

58.4

58.6

58.8

59

59.2

59.4

59.6

59.8

60

60.2

60.4

us
l_

4e
X

usl_4eX:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

15.5

16

16.5

17

17.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

43.5−

43−

42.5−

42−

41.5−

us
l_

11
X

12
X

usl_11X12X:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8050 8050.5 8051 8051.5 8052
cyclenum

136−

135.5−

135−

134.5−

134−

us
r_

4a
X

usr_4aX:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

3

3.5

4

4.5

5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

193.5

194

194.5

195

195.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

12.5

13

13.5

14

14.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
r_

11
X

12
X

usr_11X12X:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8050 8050.5 8051 8051.5 8052
cyclenum

34696.5

34697

34697.5

34698

34698.5

us
l_

co
il1

usl_coil1:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

7079

7079.5

7080

7080.5

7081

us
l_

co
il3

usl_coil3:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

4073.6

4073.8

4074

4074.2

4074.4

4074.6

4074.8

4075

4075.2

4075.4

4075.6

4075.8

us
l_

co
il4

usl_coil4:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

196−

195.5−

195−

194.5−

194−us
l_

co
il6

usl_coil6:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

16801.5

16802

16802.5

16803

16803.5

us
l_

co
il7

usl_coil7:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8050 8050.5 8051 8051.5 8052
cyclenum

30402.5−

30402−

30401.5−

30401−

30400.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

5821.5−

5821−

5820.5−

5820−

5819.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

3555.2

3555.4

3555.6

3555.8

3556

3556.2

3556.4

3556.6

3556.8

3557

3557.2

3557.4

us
r_

co
il4

usr_coil4:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

150.8−

150.6−

150.4−

150.2−

150−

149.8−

149.6−

149.4−

149.2−

149−

148.8−

148.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

17608.2

17608.4

17608.6

17608.8

17609

17609.2

17609.4

17609.6

17609.8

17610

17610.2

17610.4

us
r_

co
il7

usr_coil7:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}



8050 8050.5 8051 8051.5 8052
cyclenum

471.8−

471.6−

471.4−

471.2−

471−

470.8−

470.6−

470.4−

470.2−

470−

469.8−

469.6−

4a
X

_c
oi

l1

4aX_coil1:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

79.8−

79.6−

79.4−

79.2−

79−

78.8−

78.6−

78.4−

78.2−

78−

77.8−

77.6−

4a
X

_c
oi

l3

4aX_coil3:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

21.5

22

22.5

23

23.5

4a
X

_c
oi

l7

4aX_coil7:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

531.5−

531−

530.5−

530−

529.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

103.4−

103.2−

103−

102.8−

102.6−

102.4−

102.2−

102−

101.8−

101.6−

101.4−

101.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7113}



8050 8050.5 8051 8051.5 8052
cyclenum

173.5

174

174.5

175

175.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

71.5

72

72.5

73

73.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

13−

12.5−

12−

11.5−

11−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

187.6

187.8

188

188.2

188.4

188.6

188.8

189

189.2

189.4

189.6

189.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

3

3.5

4

4.5

5

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

11−

10.5−

10−

9.5−

9−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7113}



8050 8050.5 8051 8051.5 8052
cyclenum

234.8−

234.6−

234.4−

234.2−

234−

233.8−

233.6−

233.4−

233.2−

233−

232.8−

232.6−

11
X

12
X

_c
oi

l1

11X12X_coil1:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

87−

86.5−

86−

85.5−

85−

11
X

12
X

_c
oi

l3

11X12X_coil3:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

5

5.5

6

6.5

7

11
X

12
X

_c
oi

l4

11X12X_coil4:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

3.5

4

4.5

5

5.5

11
X

12
X

_c
oi

l6

11X12X_coil6:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

435−

434.5−

434−

433.5−

433−

11
X

12
X

_c
oi

l7

11X12X_coil7:cyclenum {run == 7113}

8050 8050.5 8051 8051.5 8052
cyclenum

7111

7111.5

7112

7112.5

7113

7113.5

7114

7114.5

7115

ru
n

run:cyclenum {run == 7113}
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